DP 2074B

= : )
C RS
2, g o0
& a O
= g g
o = =z z
‘S .m N @ o m
e = ¢ -
252 5 £y
2 2 &g 22 g5
2 .2 &8 =5 S,
= [ ] e ias =
= 2 £ &S L ol ?
an < w2 171 .r % = m N= = .M Wu,. m
S 2 2 32 o EE Zwv g 2 B 3
_B2§ 58258 S5 = 2 £
'z £ E E 8% <9 = 2 =3 |2
S ° B 2 2 5.3 RS 2 = S |5 o
S B 22 E 8 E % =S8 £ B <|2|2d=%
s 22 £ g X2 R E3 = |5 25 2=
5 5§ 8§ E g — & Ss8|l ol T2 )
L 3 8 8 € &=z S Eallgl €8 D
= 2 B N N S > s 22| S & S
E =2 2 2 8%8 Sm<|| S| §°7° =
s o = e 2 N= = == S S v A
E & &8 £ & 55§ ==213| 22
o O (S
538 EEzZs S 2 IS
2 2 & 8 2 a2 24 >
o2 2 2 9F a M= B = M
- ~ @ =) = g
T T T T T R_E o [l .
0 _ 2 | £=2
B% n _ N (-
= . | = [(ERESR .
e < = [ <
£3 n | AY@ S E 2
S i N g 3
= _ ) g b
= O || R S 3
o) Ve o2 LF
= I = ElEN . mm
Az~~~ |z @& 5|5 [ES EE
5 R Elz85Y 2
% 73— Ol EslEm =8
w ()‘Z€ 1P eu 0o3auzoipAzid
0ct P £01p 9.1 mpund eupdzi
NMOI JIUIZIZSAZI() :
w ()4 1p eu 03ouzoipAzid
nmoud omﬁONon%NoO yLpH1 mppund eupdzr
0 7EIR6E3|A
T1SL3p98eRCED
$7°990+0 INA
Asex ‘Toxd 39ruoy] NS 26'SyIFzesyL [ 000 | g F00'S9 ]
W9/ bl @3 g
W00'950+0= N /= &
96'SYI[¥6'SYL [ 200 i T [00097
W g6'shl % 4
W7 L50+0= NI _—
S 66'SYI[L6'SYL [ 200 "00'GS T
| |
I |
© o g 00'9¥Te6'SYL [ 200 | € e £ [000S
8 “ o " W 00 9S0+0= AT p i <
y Y T 2]
< o 20'svTrioorL [ Loo | . = F00'Sh
_ I W 6L ppl -
< Voo W9S9E0+0= N
£ . S ¥0'9Y1[vO9vL [ 000 F00'0%
E 9¢°9¢0+0 N W 5091
: w $6°9¢0+0= N3
S Asex foid oa1uoy NI 90'9%1[90°9vL [ 00°0 f00'GE
2 | wgppl
A ] — W 9S9E0+0= NI
I — 80'9¥T[80'9VL [ 000 00'0€
[a]
SR o EEE
Elag X = o ! e 0T9PIFLiovL [ 000 | ge r00'Ge
m o) m m & N m -~ = @ <
N5 .|W. .|WJ S Q! S ..M =2 <2 = €
28 = < T SE T eTopTrerort [ 1oo- | W i 3 0002
e BE N D S5 ©
€& & " D S8 i
={ — SR GT'OVT9LoyL [ 100 F00'ST
o w ! : weeryl S
E = Lo WIHE00H0- W o | A —
H \ ) WI6thl 2 Mc m LTOVI[8L9vL [ LOO- 70007 ]
= Wl oyl [ [ WP E00+0=NT = = &
=W 68°900+0= _ _ = N £
_ y— _ = 02'9Y1[0Z9vL [ LO0- | 2 ~00'S0
=
00°000-+0 N \ Ik 7
Asen ‘loid ya1ezooJ
w EoShl
W05 000+0= N
w syl o
WS 000-+0= I S| - S ..W
- —-— y —
o| 9 2 c [} >
M| © d = @
2 | & o E | £
~—| = o N - ‘5 N
n| < = Py 2| 2 | @ o
‘ ‘ o | 2 o) 8 c c 9 '
P8 EP1="1SPZ1 $8'6p]=15T 21 s |5 || 28|89 ¢
‘€' €00+0= U] WAR{IUpPLso 1 wanrumosserd z erupn)g o o o _W_ o by 5 o
@ o o’ w w @) v
w gLyl
5 W ST SPSHe= N
<
en
[}
s
Q
o
2
Z SI'SPS+¢€ INA m
= Asen Toid d9ruoy| o ° I\
z z 5|\
£ 3 S\
g wigyl %! vYOyyI[SovrL [ L00- | 4 "86'6E
s £ E WEEES+HE W
g 9% s £
5 EEEE F
LYY WESpp O_\ _ 6T PYI=71 00 0E6+E= W 8
AR WZEOES+E Wy : I T -
= Tc=w
S 5 weebhl 0€ PPT=21"00 6Cs+€= W .
W 9zs+e uy ©
=4
F U
19'% ¥ 1 F00°GYL [ 8€°0- 0002
. 6 PP 1=21‘00'S1S+€=
o
3
+
(sp)
18"y ¥ 1[ 96 vl [ GL°0- -8_8-|0|
N E 2
s <le £
v i S
_ _ Y8 ¥P1=21 05" 067+€= Wy 1 &
_ S6'vP1=21°00"G8+E= U]
10'SPT[S6 vVl [ £0°0 00'08 7
wg syl
WIEEgH+€ Wy
12'SPIL6VYL [ 00 00’09
£ E
S%ee 5
R bE §8
aLTaS 88
LgeiN woz'SH1 | S
Moo wOE [ph€ Wy
il y2SPI[L8bYL [ €50 F00°0 ]
W6l 6EP+E W
2 SR
> YISYI[S8 vyl [ 060 | 2 700'02 7
< Slo
o F 1
; . 00°SY1=21 ‘00" 0p+€= Wy 8
s T M—..u
_ Wroshl . L6 PR1=21 100 865+¢— W GO'SYI[c6vrL [ €L0 - 00'00 ||OI
LT T 86'p =21 00 S6E+E= Wy
ETSHI[66'VYL [ 710 0008
22'SPI[60SYL [ €10 00'09
; _ LT'SYI=Z1°0G" gSg+¢= Wy
S S
2 gls
<Q i i
2E'GYIfZosyL [ 00 | ~00'0
: “ €€ GHI=21 ‘00" €TE+E= Uy
I7'GPT20SYL [ 6€0 F00'02 1
£
D
&
©
3
F
o
o
™
+
qw c
n IS'SYIFSOSyL [ 9v0 -8_8-|0|
A
w oG shl
W Gh 88T HE= N
a 2G'GYI[LOSYL [ SV ~00'08 1
a . 2b'SyIfLo6rL [ se0 | d . 0009 ]
N a3
= :
. [le]) (=]
o F {1}
"_ u 2E'SPI[0SYL [ 920 000
.  ETSPI=21°00'9ET+E=uny
[} J
O 81'SY1=21 ‘0S5 $TT+E= 1wy
r p W gz gkl
al I
12'SYI[LOSYL [ 020 00'02
" _TTSYI=21 00 91T +E= ury
o
o
N
+
™
LE'SYI[YLGYL [ €20 -oo_oo-lo|
L¥'SYI[0ZSyL [ 9270 00'08 7
m =)
S z
< Slo
o T
-
: LY SYI=21 00" P9 [+€= Wy
9G'SYI[Z Syl [ €€0 00’09
99'GHI[LESHL [ SE0 F00'0% 1
3
S
1l
S
9L'SYI[0ESYL [ V0 -00'02
W08 Shl
WZEOTT+e= N
3
3
(sp)
CL'SYI[9SShL [ 680 -8_8-|0|
X n- % S m
S $3 | 8§
o | Q8 S ¢
Ml
99'GHI[ESHL [ 20 ~00'08
“ 9GS SPI=2T D0 PLOFE= WY
W 65 G TS SHI=21°05'990+€= uny
409990+ €= NI
[P €
. . S SP1=21 05 190+¢= Wy 3
o
- —— 29'SPI[zesyl [ 0€0 @[ 00097
/ . C9°SY1=21 00" LSO+E= W
2L'SYI[Ov'SyL [ L20 ~00'0% |
0/0 € lo
o) S
< sk5
< ®li
: “ €L S¥1=21 ‘05" €T0+€= Wy
28'SPI[0S'SYL [ 2€0 0002
o
3
+
nm (sp)
16'SPTSSSYL [ 980 o -8_8-|O|
7
W 66'Sy1
WS E86+ = N
86'SYI[LOGYL [ 9€0 00’087
88'SYI[29SYL [ 920 F00'09 1
" _EL'SYT=21 00 EP6+T= Wy
£
8L'GYI[2oSyL [ 910 & 000%
3
F.
-
S S
A (=2}
3 2
o i R
-
89'GPI[EISYL [ 900 00'02
£
§9
. 8 G
\ “ 98 S¥1=21 "00'606+C= U m_w
o
o
(o]
+
N
_ 8S'SPIF6rSrL [ 600 0000 -
£
%
)
in
-
1y ZsnyjIe
Ty 7S
o e >
Q| 2 S | ©
o (O] > c d >
< | 9 S| 2| ®
z | 2| @ | E | E
< = o) N -+ m N
| < - Py 2| 2| @ o
- O -+
o | 2 2 O S 5 S )
1818|8552 5
ol g N Q Q@ Qo © 2
x x x ] TN, ®) X




